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Instructions to Candidates
1. The Question Booklet containing 50 questions and the OMR answer sheet is given to you.
2. All questions are compulsory, each question carries one mark.

3. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer sheet,
using blue/black ball point pen. Do not try to alter the entry and not to do any stray marks on
OMR Sheet.

* Ex: In a question paper if No. 3 is the correct answer for Question No. 20, then darken in OMR
answer sheet shade circle 3 using blue/black ball point pen as follows.

2000 @ @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong and no
marks will be given.

5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before leaving the
examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the
examination hall.

8. English version of the question paper will be considered as final, in case of any dispute arising
out of variation in translation version.
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GENERAL MENTAL ABILITY TEST
mmas WPRT TR TOcs
@ D Y

(Questions : 1 -5) (@%ﬁ@o : 1 -5)
Directions : Complete the following number/ DRBINAL : &@@idoa TOITOEORNYOT
letter/figural series by choosing the correct 2003393 emédd?nol =02, FSNI ;jomé/

answer from the given alternatives. @35/33.3]‘@ éeg,gﬂ%ﬁm& TREOFRADL.
1.1, 4, 5, 10, 17, 28, 53, 2, ? 2. 1 114 5 302

24’12’ 4

1) 58, 64

2) 64, 93 1) 150

3) 78, 118 2) 180

4) 82, 161 3) 210
4) 240

3.Z, Y, W, U, R, O, 2, G B
1) K
2) |
3) H
4) J
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(Question : 6)

6. Direction : Choose and substitute the

correct set of signs in place of *
sequentially, selecting from the given
alternatives to make the equation

& G
ERS

gé; : 6)

4)

6. TR : BREITO| FAETTEITI),
OPEFPRE [IPBLO, BRI
033 WBTNY NEOTIY, * WPNTY
BN STIESTLIER DOLITIY,

meaningful. TOSTOEORNLOT SO,
90100+ 10 100+ 110* 10
1)+, X, +,=,—
2) —, +, X, +, =
3) =, X, +,+,—
4) =, +, X, — +
(Question : 7) (&, 7

7. BRW¥Y : 3YN RoBATOH 0o
&%é&ﬁ%ﬁﬁ{l WTOITON %J@éid:d 03303
N eITLOR) #@oﬁmﬂdagd ?

7. Direction : When the signs are changed
as shown below, which one of the given
equations will be correct ?

—to x ‘gquﬁ
x 10 = x &, = 1
=to + =§D°1+T§
+to = +K)>D°l—ﬁ
+ to— + 3 -0
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1) 96-24 +36 =48 x 84 =+ 12
2) 96+24—-36 = 48 x 84=12
3) 96+24-36=48 + 84 x 12
4) 96—-24 +36 x 48 = 84 =12
(Question : 8) @)% . 8)
8. A student starts from a place A 8. 2.2) @ms@;om %e; A 00T BRTED

towards East and reaches place B. - - -
From there he turns towards South- TR &%ﬁg WO ”c*ae‘? BA 393“333‘?3'

West and reaches place C. He then ©QOT FToFF 3oh IE €A
turns towards South-East and reaches 30D, 03T @ﬁ&eoﬁ @%ﬁ 3N
place D. From there he turns towards v = . -
East and reaches a place E. He then 3¢ D onsy 3w ¥gonm TS
turns towards North and finally reaches DEFY 802 TS E R LTI, Q0T
place F. Which of the following figures V33 @%ﬁ 30N @R B¢ F 30233
. ar) @
shows his movement ? g 29NR o3P 2,3_3)@ wmR @8O3
TPTW, BRWWITT 7
A B
F
¢
1) 4)
(Questions : 9-10) (@%ﬁ% :9 — 10)
Directions : In the following questions find  TRWIJNL : TWIOR QTR 23 TRENTDR
the missing letters in the given pattern. @?Azjmﬁ:p& %@é,gdad @é&ﬁ@ﬁ 9 TOT 0N

BOT&BCND.

L ? T 49

? ? D 38

? F ? 46

51 36 46
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9. Find the missing letter in the third 9. SRTRCD FOPTY W), TBHENTT

column. WFTIR, FOWERROND.
1)V
2) S
3) P
4) M

10. Find the missing letters inthe second  10. QTEICH TOTY Wiy TRCNTIZ

row. WITNYR, FoRLROVD.
1) Q,H
2) R, |
3) U,M
4) V,N
(Questions : 11 -12) (@%ﬁ% 111 - 12)

Directions : A problem figure is given at the XN 1 DFRPNTQ 2,00 TTITHD

left side. Find its correct mirrorimage fromthe /¢33, @0 FOOIRT TR €0 TS0
alternatives. BT ORNYOT FOTDEBOWO.

A | AT
W
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(Question : 13) ("3, : 13)
13. A, B, C, D and E are the members of a 13. A,B,C, D :”3_’9 E QS0oned 2,000
family. BEDHOWT mﬁﬁé&.
a) Ao ;NS 505::33 B o% 503323)5

1
a) The present age of A is 1 times
) P g 2 110333&&
that of B. 2
b) B 03> =03:® C 03> TR

QTTETYE.
c) Cc3o DNOZ 8 SR BATR™.

b) B is twice the age of C.

c) Cis 8 years older than D.
1
d) Dis 1E times the age of E. d) D 033 Fo3my E 033 F[oIAw
1
150333&&

If the present age of Eis 10 years, thenfind E o3 3:3A38 Zo3hD 10 ITe933 B 2393
~ -0

the difference between the ages of B and D. DR = 03323)5 e osdwmq 205588090,
1

) 48 years 1) 48 BRFND
2) 41 years 2) 41 BRENLD
3) 31 years 3) 31JJNAW
4) 28 years 4) 28 IRENW
(Questions : 14-18) (TN : 14 - 18)

Directions : Complete the given number / ~ XRWRNA 1 FRETOT  TOIRE OPNFOT
letter / figure analogy by choosing the correct ~ FOCIIRT YLITTR, BOR, BRI KO, /
answer from the given alternatives. @ﬁd/&%@jﬁ%ﬁmmﬁﬁ%ﬂ@l PRF PP,

14. 441 : 7 : : 576 : ?
1) 6

w

)
) 12
) 14

I
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17.

15.

73,57 .93
67 55 87

47
53
53
57

: ?
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(Questions : 19 -21)

Directions : Identify the number of specified
geometric shapes in the given diagrams and
mark the correct answers.

19. How many triangles are there in the
given figure ?

20. How many quadrilaterals are there in
the given figure ?

21. How many semicircles are there in the

given figure ?

(agéeszo : 19 - 21)
BRWIN : YN %\@@gpad 283NTY Rss
méméods SERTL ﬁo&Séo:’DmO1 FOL RN
emgdwmol TSR

19. 34T WSRO Ty FHWRYH ?

20. $RLD WIRY STy WHLHFENES 9

21. BRLDT WIRY OFy VTFRINIS 9
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(Question : 22) @)@"4 : 22)
22. Direction : Find the missing number in 22. BRWS : 33 TN BRLTVW FOLY
the following pattern of numbers. D[IOTO0ND  DEN JRCNTOZ
™ ed

50935me FOTEBONO.

6 {1615 10, 7

4 1 7 13121117 24 8

(Question : 23) ("3, : 23)
23. P,Q,R,S, Tu&) Usth ot

23. P, Q, R, S, T and U are six brothers. 22200, QY P 102 RebRO

Q is younger than P, but elder than S.

T is elder than P. R and U are twins. 2TSD, STWS S NOB WD, T
Pis elderthan R and Q is younger than U. axo P Nod ReiRd. Ry U
Who is the eldest ? WRNY TAACTSD. PR R No3

BRI e QY Uncs
asgm. TMTE ALONC ma&g
S zﬂracgm R ?
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(Questions : 24 — 25) (TBnsd © 24 - 25)
BRWRNNL : 33 IENT TJJND BRI
LIeQAT STBNTI, BSPORI.

/1 \+ 1

Directions : The following questions are
based on the given intersecting figures.

Y

24. Which pair of numbers given below 24, 3R Zetids ol :’)09%7@5’) IO Eley
are inside any two figures only ? ARYRTIR ACR UFO TR 9B ?

25. Which of the following number liesin  25. 3R 3Ry 3R 509360333 tAich
the figures Il, llland IV only ? I 5525 VSO =502 9 9
H - o - .

—

© o ©

I
—
o

11
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(Question : 26)

26. In which one of the alternative figures
all the given components in the
problem figure are found ?

("B, : 26)
26. O33v= TSEOD WSHY Tz, WITY

%.@éédm QR PNNER VN ?

Problem Q OA

figure 00

i 0

w
&

2)

1)

(Question : 27)

27. Direction : Take the given statements as
true and decide which of the conclusions
logically follow from the statements.
Statements :

1. Some doctors are students.
2. All students are men.

Conclusions :

I. All doctors are men.

IIl. All men are not students.
lll. Some men are doctors.
IV. All students are doctors.

]
2
3
4

) Only conclusion | follows
) Only conclusion Il follows
) Conclusions Il and Il follow
) Conclusions | and IV follow
12

(ﬂ-’

c:))@:l 1 27)

4)

3)

27. BB : BRLIB TEPIN IO O
PONA, O3VT EFONT) o FasoN
mdmmgd RO AGEOA.
TeLIND ¢
1. 3OR) ﬁédzsda QTOHE TSV,

2. QY ébméépFﬁm TOTICONT.

QeasoRned
. oy décsézi@ DTICODN.
Il QR FTICORNTO ébmsf;ﬁrﬁ@ec;}.
lll. 3O DIBICORTO FyTIT.
IV. o9 @m@;ﬁ% décséda.
1) 36330 QEFOPD | OFOIT
2) 36RO ARFOD I OFOAST
3) Dear 0PN 11 0B 11RO
4) DEIF 0D | T IV 9RO
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(Questions : 28 — 29)
Directions : In the following questions there
are four groups of numbers/letters of which
three are alike and one is different. Find the
one which is different.

OO R R A
@%ﬁeéo : 28-29)
BRWRNADL : 83 3UNI TPi9Q Roadrie/wzons
ReDRTNY Ty, THOTONYRD, 8L, TRNYY
TRRTL 20T OeS0D ROLIOTRI, TROLITTI.
200D S PIFIONT. PRJTNTLPYTD, THTHSR.

28. 1) 121 64 88
2) 169 36 76
3) 196 25 70
4) 225 16 60
29. 1) ASTEROID
2) AQUIFORM
3) AVULSION
4 ARGUMENT

(Questions : 30 - 31)
Directions : Find the wrong number/figure
in the given series.

(T3,ned : 30-31)

RN : BT Jeednv) ST "o/
WSWR, FOBIERRAD.

30. 768, 96, 16, 8, 2

31.
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(Questions : 32 — 33) @%ﬁ%‘b : 32 -33)
Directions : Find the missing numberinthe ~ R/eERNEY : LI ZFNTY LLVTRENTLH
given matrices. RO23,0DZ, BOWLROND.
32. 112 16 7 256 1) 7
117 14 2?2 182 2) 8
143 12 11 156 3) 9
4) 11
33. 9 27 162 1) 17
13 39 234 2) 21
? 51 306 3) 23
4) 31

(Questions : 34 - 35)
@%ﬁeéo : 34 - 35)

Directions : Find the missing part of the BREIND - 2T BRSSO RADR
iven figure from the alternatives. I D
given figure from the alternatives &707155301 HO3EOBPRLOT BT,

34.

?

1) 2) 3) 4)

14
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(Question : 36) @)% : 36)
36. Inacodeif FH=48 and KH =288, 36. 2.000 30&3% X5 FH=48,508) KH=88
then the code for MG B is 333, MG B o Zo3eSw)
1) 166
2) 178
3) 182
4) 192
(Question : 37) @% : 37)

37. Direction : In a group of letters, 37. 2% : “APDVGHNERM'S3 O3
“AP DV GH N E R M’ the order of the YFONIR, IR RRWBATOTOZ VT
letters is interchanged as follows : TR BRET.

1 and 3¢ 1 303 B 3TN
o™ 5nd 5 2 F0 B 5F0
4" and 7" 4 303 THF) 7 30H
6" and 9" 6 JoD I 9JoB
8" and 10" 8 JoBd I 1030

b3t -
Find the new group of letters formed from BRITRN SUSTRMS @izﬁﬁ@é mowm‘i
the alternatives. TCITVECI/NYOT TOTEROWD.
1) GNDAVPMEHR

)
2) DGANPRVMHE
3) DNAGPVRHME
4) VGNADRPEMH
(Questions : 38 — 39) ([3;n<o © 38 - 39)

38. Which one of the following Venn 38. 3¥30% QOTIR w¥Tey) 3 F¢R
diagrams represents the relationship BRI a3 S WS A, B, Cv=)
among A, B, C and D under the D APNTHE BowOoRRy, e ?
conditions given below : a) o9 Cod» BR 2edd.

a) All of C belongs to B. b) B o B o AR 2eddd.
s
b) Some part of B belongs toA. c) C=x® Bn¢ Zu mnnss DA
c) Some parts of both C and B belong 203,
to D.

Q) (or

15

1) 2)
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39. Inahigh school the languages studied ~ 39. %03 TEFTVTORQ JITRRENF
by the students are as follows : 9?550335 SRRTW PN FPTOROS

Q.
a) 250$Dw%®ﬂ1@é> QonesF @C%O:‘Dé SRTDTD
b) 180 &Dw%@?ﬁ% &?’gl@ @%0335 RRBDID
¢) 160 students study Sanskrit c) 160 ;Dw% DFRD 50-%93 9%0335 SR

d) 100 students study both English ~ d) 100 JtRFNE Q0N I KT
and Kannada adcsmel @zssosm RIOTHRIT

e) 80 students study both English ~ ©) 80 QIRRFTIES VONET® 3 TOX,3
and Sanskrit @dwmol @zﬁsosm RRTRD

a) 250 students study English

b) 180 students study Kannada

Find the total number of students in ZTETSRIE 2.t ;amsc;sm@ 502935033&%:oz
the high school. 20000,

]
2
3
4

410
400
340

)
)
)
) 330

(Question : 40) (B, : 40)

40. The Independence Day was 40. %30%6 @mwdssosam& 2016059
celebrated in the year 2016 on B RCIC S5O TRONDY). TGS

Monday. On what day in 2018 the
Republic Day will be celebrated ? 201 8&2 ﬁwm%éc%swmol BT O
3230 RMRH T ?

1) Tuesday

1) DONYZT
2) Thursday 2) T
3) Friday 3) Shgmed

4) Saturday 1) 300

16
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(Questions : 41 — 42) (gé;mfo 1 41 -42)
Directions : In the questions given below the BREIN : 33 9N 3@@3535 55 ﬁ@@
numbers in the figures are related. ldentify their @5@@7{@;@ QDR Nogjmfo Noa)o@d?})
relationship and find the missing numbers in 20003, 83 Nowom@ ﬁbd)&q wééﬁ%ﬂ@
the given figures.

23, BRENTT F03 mﬁm S0TIBCN0.

RCeoSCon @Oo@

400, 175
300, 150
200, 100
200, 80

)
)
)
)

b
wl
[\
Ny
[\
wl

&
&
S ...

—

w

Y
&

\‘EV\I\)V

(Question : 43) (|3, : 43)
13, 2o ;B 9N TIOHY 2od

43. Direction : In the following question a
Sy SouEEE, dANE. & BTEER

problem figure is given. The problem

figure is hidden in one of the figures given QLI TOWRF oD 23T e_%% CRJTIRC
as alternatives. Find the figure in which 2,000 BTN, 0T T D 2333
the problem figure is hidden ? 9 SBAS @O&DC)F’D& 20TEE000.

e
7

Problem figure 1) 2} 3) 4)
:‘;’ma{ 2"3‘3/ 17
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(Question : 44) @)@:1 : 44)
Direction : In the following question, a set of ZeMS : FENT TIODY 2O FOLY

numbers is given. Fromthe given alternatives, Ze0eEw, 3083T. AT é.mmﬁoég
choose the set which is similar to the given set. :’Jomé ;jmggg% TOITEODNLOT =50.

44. 169, 289, 361
1) 25, 49, 121

2) 49, 81, 225

3) 225, 441, 529

4) 441, 529, 625
(Questions : 45 — 46) (@@:{mfs : 45 — 46)

45. Different faces of a cube are given 45 3% 391 10T PET QP Zonead
below. Identify the pairs of opposite 2Re02T. BRLIDHT ToIRFOHRYOR FRE
faces from the alternatives. QTT =oDRS mgﬁgmez o3,

@
3 3 4 5
5 |2 5 6 5 3 1 6
1) 1,2 ;34 ;56
2) 1,3 ;24 ;56
3) 1,3 ;25 ; 4,6

4) 16 ;25 ;4.3
46. When the problem figure given atthe 46, oERZO g@%&g 5%423‘3)5534 2,0

left side is folded |nt_o a cube, which TE SN HRITR RT TR
one of the cubes will, be formed ? )
Identify from the alternatives. YOOERMITT QOWTT3, TR TIT

TOSTTORNPOT TOTO3 .

AN

O
< | 3%

18



GMAT(K-10) U R0

(Question : 47) (55 47)
47. Direction : 47. BRUS :
A > B means “A is husband of B” A>B 0330 AOIBOD fod
A — B means “A is brother of B” A-B ©0T3 AC3N BOH IHReTT
A + B means “A is father of B” A+B 2033 AN Bod 303
A x B means “A is mother of B” AxB 99033 Ao Bod 3900
If P>QxR+S, howisPrelatedto S ?
Find the correct alternative. P>Q xR+S «ud, Py Sn¢
- 5 - 0
1) Pis father of S ToWwoy wm& TRT @os"oéo:)aoa
TOTDHLROWD.
2) P is grandfather of S
1) P30 ST 30T
3) Pisuncle of S
) 2) P30 ST 303
4) Pi ther-in-| f
) P is brother-in-law of S 3)Po$338§a%§5@—3
4) PO3N ST o
(Question : 48) (|3, : 48)

L . 48. TR : BT 3eed0D 3% o3
48. Direction : In the given sequence how - e ?37, - % )
many times an ODD number appears DT, 290 2.0TH WA FOL, T 8.0

between an ODD number and an EVEN R DO, IWW TTOT 00T ?
number ?

536976554138737445
1) 6

2) 7

19
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(Question : 49)

49. Direction : A parallelogram is given
below. Among the choices given,
identify which set of parts of figure is
required to form the parallelogram.

(=3,

OO R R A

1 49)

49. ZRWR : B3 FIYN 20T A=o0™00IT
WIVLIF LI, TRT. ejoﬁo&rf%f@q
BREITDE WIT NNT O3 Measy)
RWIDTVOTT  WBGRF RBRY, WPBED
eﬁﬁ%mﬁd RO TSR

1)
2)
3)
)

(Question : 50)

50. Arectangularparkwitharea 120 x 80sqg. m.
has four gates A, B, C and D as shown
in the figure.

N/

A B EF
A,C,D,F
A/B,CE
4) A,B,D, F

(Z3, : 50)

50. 3$30% ATl 3RCOATHTOS WO
ESODTVTOTTS TFER S2ee0F 120 x 8023cwe.

&-mc’% @d% A,B,C =3 D EISH]

ICl RPN,

B__ 120 x 80 sq.m. D
|
A

20
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Anil and Kiran enter the park together from
gate C and start walking in the anticlockwise
direction.

a) Anil completes 3 rounds and in the
fourth round he exits from the gate A.

b) Kiran completes 4 rounds and in the
fifth round he exits from the gate D.

Find the difference between the distances
covered by them.

1) 340 m
2) 400 m
3) 500 m
4) 560 m

21

ASE 5333 1ol fauzm msﬁ TR
Cﬁcés?w "’ﬁcéN ﬁcaomdd ;wxs ARIN)
(wwdat@mn) SWEoLe @do@mmé

a) VAV 3 WIATRY, JPFRRPA
moéc méﬁ@ A ﬁewaod
aﬁ?mwma

b) 3Teox 4 ms_:gnem& TRFRRP
2ERe BITY D Reddor
ANFRTTIR.

@3@&)5@ 3@5 BRTNY 33? 5833
30@300@0335

1) 340 e.
2) 400 0.
3) 500 <e.
4) 560 oe.
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SPACE FOR ROUGH WORK
2,33_39 a.)z%ﬁ&ﬁ szeé
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SPACE FOR ROUGH WORK
2,33_39 a.)z%ﬁ&ﬁ szeé
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WRRENER BN
1. 28 L2770 (OMR) 0033 Be W3y 50 TIRIDT B3, WAFOH, IR VFTOAT,

2. QU TJMEd FWYODR. T TJR 2,000 WOFT.

* T TYCH, LRNCRBIEN0T £.00.

* .20, (OMR) B TE T3, 0B B0 BHOWT YOFTIT, MTVSTLD JEBONTOT ToLY,
BBNY Fd FOOIRT WITT FIIR, DB TooRON RGT TOCWOE T [PT, LOTOILENA
T TRE. &;ﬁa@ YOZTT/I), 3o TRAT PSS WTIONIL VVTINY B, O3TTIE OING,
ROVBAGI, L.0237.50°. (OMR) 2030 BIFoD et BRBIREID.

* e : 20 Je BIR O 3T wod) Bol 3 sngQ L.oawmr.sTt. (OMR) Qusg 33 3,
Qe /BF) LR TOWOEF T VT3NS B3I, 3T TRBYWD. B3 FER SRCOATOZ BOTREDF zooN
B0WeR.

200 @ @ @ (oW VWRBTH =I)

4. 2,000 TJ7 YOFTN .0TYOZ T, BINTT, BORTY WOIT YLITRY, THOW TONEIR WOIRYI,
QETLO WDRDY.

5. b.onr.s0t. (OMR) Ruag Ants %WSQ VPO Tonp B3R BeDTTL ST B BIVTLER.

6. HWoezy WRH TONT J0TT YZORT L0370 . (OMR) Fedzmd), 38R HedesTTOR STTe LRI,

7. BOegy ERTRAIAYT TS, Bl BRTHEICDI), YIVFTE FETIT YVTFTONTI, ILRYT,
QTeQAT.

8. UNWOIT TF, BSINTY cIYTe TN WHRATY T3, DEFOD YONT TRTWOTTe WOITIIOD
&900LWeR.

Note : English version of the instructions is printed on the front cover of this booklet.




Question Booklet SI. No.

ELCT-10

NTSE

DEPARTMENT OF STATE EDUCATIONAL RESEARCH AND TRAINING
STATE LEVEL NTSE EXAMINATION — NOVEMBER 2016

PAPER -II-‘A’ : LANGUAGE COMPREHENSIVE TEST CLASS-10

REGISTERNO.:{ 2 [ 4 | 1 | 1 ]| 6

TIME : 45 MINUTES MAX. MARKS : 50

Instructions to Candidates

1. The Question Booklet containing 50 questions and the OMR answer sheet is given to you.
2. All questions are compulsory, each question carries one mark.

3. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer sheet,
using blue/black ball point pen. Do not try to alter the entry and not do any stray marks on
OMR Sheet.

* Ex:In a question paper if SI. No. 3 is correct answer for Question No. 20, then darken OMR
answer sheet using blue/black ball point pen as follows.

200 & @ @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong and no
marks will be given.

5. Sheet for rough work are appended in the Question Booklet.

6. Candidate should return the OMR answer sheet only to the room supervisor before leaving the
examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the
examination hall.
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LANGUAGE COMPREHENSIVE TEST
Questions (1-5):
Read the following passage and answer the questions given below :

| had hardly settled to work on the next issue of the morninger when the boss stormed into the
room raging. Having joined his tabloid only a couple of months ago, | had come to think of him
as an urbane, upright and meticulous man. The outburst, caused by a minor slip in the report
filed by me yesterday, unnerved me completely. “Was this the man who patted me on the
shoulder only the other day for covering the Prime Minister’s visit to the state ?” — | asked

myself in vain. | wrote out my resignation and walked out of the office in a stupor. (105 words)

1. The boss stormed into the room, raging because

1) the author was working on the next issue of the morninger
2) he came to know that the author had come late
3) the author had made some mistake

4) the author had not carried out his orders

2. The author left the office in a stupor because

1) he had not done any mistake
2) of the sudden display of temper by the boss
3) he felt he had failed utterly in the task

4) the boss’s behavior towards him had often been harsh

3. The author thought that, the boss of the establishment was

1) a man of perfection
2) a quarrelsome man
3) a man of scrupulous nature

4) an unpleasant personality
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4. From reading of the passage one can conclude that the author worked in

1) an office collecting and disseminating information about the visits of ministers and
VIPs

2) a publicity and public relations office run by a ruling political party

3) a public relation office run by a ruling political party

4) a private company bringing out a weekly news magazine

5. The author was appreciated by the boss because

1) he walked out of the office in a stupor

2) he wrote his resignation and walked out

3) the Prime Minister had visited the State
)

4) he had covered the news of Prime Minister’s visit to the State

Questions (6 - 10) :
Read the following passage and answer the questions given below :

My wife, daughter and | were travelling in a rented car through Nottingham, England, on our
way to a cousin’s home in the northern suburbs, | became thoroughly confused by the maze of
circular and one-way streets. Finally, we spotted a policeman and pulled up to ask directions.
We were surprised when he removed his tall helmet, opened the back door and slid in beside
our daughter. “It'll be much easier to show you”, he explained.

Off we went through a series of left and right turns, traffic lights and even a short jaunt up a one-
way lane the wrong way. Twenty minutes later we arrived at a main intersection. “Now you’ll
be all right”, announced our guide.

“Just turn here, stay on the road for eight or nine kilometers and you’re there.” With that, he
opened the door, got out, replaced his helmet and strode briskly off. (153 words)

6. The writer was confused by

1) a network of circular roads

2) wrong direction by traffic cops
3) confusing road signals

4) road map that he had with him
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7. The word ‘suburbs’ means

1) a remote village
2) the city centre
3) residential area outside a town

4) an industrial town

8. The response of the policeman can be said to be
1) rude
2) greedy
3) imposing

4) helpful

9. The ‘tone’ of narration in the paragraph is

1) euphoric
2) ironic
3) satiric

4) ridiculous

10. The expression “our guide” in the paragraph means

1) policeman
2) cousin
3) passerby

4) professional guide
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Questions (11 -15):

Read the following poem and answer the questions given below :

Breakfast
Of all the meals that glad my day
My morning one’s the best;
Purveyed me on a silver tray,
Immaculately dressed.

| rouse me when the dawn is bright
| leap into the sea,

Returning with a rare delight

To honey, toast and tea.

My appetite was razor edged

When | was in my prime;

To eggs and bacon | was pledged...
Alas ! the March of Time

For now a genial old gent
With journal on my knee,

| sip and take with vast content
My honey, toast and tea.

So set me up for my delight

The harvest of the bee;

Brown, crispy toast with butter bright,
Ceylon — two cups or three

Let others lunch or dinner praise,
But | regale with glee,

As | regard with grateful gaze
Just honey, toast and tea.

11. For the poet the best meal is
1) dinner 2) breakfast

3) supper 4) lunch
6
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12. Before taking his breakfast, the poet would

1) swim in the sea
2) have a walk
3) have some routine exercises

4) run arace

13. His favourite breakfast in old age became
1) eggs and bacon
2) bread and butter
3) honey, toast and tea

4) roasted beans and coffee

14. In the poem, the word ‘regale’ means
1) scornful
2) doubtful
3) delightful

4) wreakful

15. Eggs and bacon was his favourite breakfast in his
1) childhood
2) prime time
3) old age

4) last time
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Questions (16 —-17):

16. The following has six sentences from a paragraph. The first and the last sentences
are given. Choose the order in which the four sentences (P,Q,R,S) should appear to
complete the paragraph.

S, The motor car is one of the useful blessings of modern science

Sg However, in the modern age economic crisis, a personal car is an expensive
blessing.

P : One of these is the pollution it creates.

Q: It has made short and medium distance journeys quite convenient and
comfortable.

R : The other is that car journey is quite hazardous.

S: Yes, the blessing of the motor car is not without disadvantages.
1) QPRS 2) SPRQ 3) SPQR 4) QSPR

17. The following has six sentences from a paragraph. The first and the last sentences
are given. Choose the order in which the four sentences (P,Q,R,S) should appear to
complete the paragraph.

S, On entering the hut Jim Corbett first picked Kunwar Singh up and laid him on a
string bed.

Sg Jim Corbett then asked Kunwar Singh’s eldest son to warm two glass of fresh milk
and bring it to him as soon as possible.

This eased the situation inside the room and the fresh air from the jungle
revived Kunwar.

He then threw open the only window of the room to let fresh air in.
His breathing became less laboured and more regular.

o

=)

He then sent the mourners, and the priest away too.
1) QSRP 2) PRQS 3) SPQR 4) QPRS

8
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Questions (18 -19):

In the following questions the second sentence is missing. Choose the appropriate
sentence from the given options to complete it.

18. A) The mail is first collected from different letter boxes.

C) The sorted mail is then sent to the zonal post office.

1) Then it is delivered to us.

)
2) The mail is again sorted out at the sorting office.
3) Itis then sorted out at the sorting office.

)

4) From there it is sent to the head post office.

19. A) He took two cigarettes from my case and lit one of them.

C) But when the fit of coughing was over, he replaced it between his tips.

1) Then with a feeble hand he removed the cigarette.

)
2) He lit one of them and placed it between the lips.
3) Slowly he took a pull at it and coughed violently.

)

4) Then he continued to draw on it.

Questions (20 - 27) :
Choose the word which best fills the blank from the four options given.

20. The interior of the concert hall is to the eye.

1) decorative

2) veritable

3) intricate

)
)
)
)

4) criss cross
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21.

22,

23.

24.

25.

The reward is a of her service to mankind.

1
2
3
4

) momento
) memorial
) recognition
)

witness

A light girl for the electric light switch in the dark.

1
2) grappled
3) gripped

4) grovelled

groped

)
)
)
)

A man that he was guilty when he was pardoned.

1
2
3
4) predicted

claimed
boasted

confessed

)
)
)
)

Heis so in his approach that not a single point ever escapes his attention.

1) meticulous

2) Casual

4

)
3) nasty
) deliberate

They fired upon the enemy from behind trees, walls and other

could find.
1) Ventage
2) Vintage
3) Vantage

4) Vintige

10

point they
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26. The officers responsible for the coup were punished.

1
2
3
4

accolade
Progressive
radical

)

)

)

) abortive

27. Although | was of his plans, | encouraged him, because there was no one
else who was willing to help.

1) skeptical
2) remorseful
3) fearful

)

4) enciated

Questions (28 — 37) :

In the following passage there are some numbered blanks. Fill in the blanks by selecting
the most appropriate word for each blank from the given options :

Earthquakes occur (Q. 28) and cause considerable loss of life. They are
Q. 29) preceded by atmospheric changes which (Q. 30) the
intellectual faculties of human beings. They create excitement and encourage men to
become superstitions. In Peru, where earthquakes are common, the people are stricken
Q. 31) fear, anxiety and helplessness and ascribe everything (Q. 32)
superhuman power. In Europe, the people of Italy, Spain and Portugal are more
superstitions. It is in these countries that clergy has firmly established (Q. 33)

hold. Further, Italy and Spain have produced the greatest painters and sculptors because
these fine arts (Q. 34) more to imagination than to intellect. These countries have
(Q. 35) produced men of science but their number is (Q. 36) ——— comparison
to that of artists and poets. The reasoning faculties of the people of there countries have
been weakened, which will be (Q. 37) from the fact that hardly any name of the
highest merit is found in the field of natural sciences.

28. 1) Naturally 2) Suddenly 3) Expectedly 4) Slowly

29. 1) inevitably 2) surely 3) usually 4) always

11
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30.

31.

32.

33.

34.

35.

36.

37.

1) effect 2) affect 3) influence
1) with 2) of 3) to

1) on 2) by 3) with

1) its 2) it's 3) their

1) pertain 2) relate 3) appeal

1) hardly 2) rarely 3) strongly

1) less 2) small 3) insignificant
1) evident 2) explained 3) emphasized

Questions (38 — 40) :

4) damage

4) the

4) concern
4) no doubt
4) immaterial

4) understood

Choose the appropriate phrasal verbs to complete the sentences.

38. The Minister had to

39.

40.

1) fend into
2) fend at
3) fend out
4) fend off

He never
1) got by
2) got over

3) got rid

4) got aside

| tried to convince her but |
1) gave in

2)

3) gave back
4) gave away

gave out

some awkward questions by the reporters.

the loss of his pet.

later.

12
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Questions (41 -43):

Select the meaning of the underlined phrases/idioms.

41. You must keep your head whatever happens.

1) be self-respecting

2) remain calm

3) be honest

)
)
)
4) concentrate

42. Our principle is not a man to mince matters.

1) to confuse issues

)

2) to say something mildly

3) to mix everything together
)

4) to be very modest

43. Don’t worry about the silly row. It was just a storm in a tea cup.

1) Important matter dealt with ease

)

2) Hot tea being served

3) Commotion over a trival matter
)

4) Confusion and chaos

Questions (44 —48) :

Select the most appropriate option to fill in the blanks from the given alternatives :

44. Her nature will help her realizing the object of her desire.
1) persevering

2) receding

3) blaming

4) fascinating

13
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45. His employer had all along been kind to him, so he by being loyal to him.
1) reprimanded
2) retaliated
3) remained

4) reciprocated

46. He always gives excuses for his absence from the office.
1) robust
2) flimsy
3) sturdy

4) lame

47. The helpful on looker was badly injured when he triedto_____ to end the quarrel.
1) intimidate
2) inter vein
3) intervene

4) intrude

48. Most of the machines in this factory are , S0 they are inefficient.
1) obsolete
2) absolute
3) modern
4) new

14
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Questions (49 - 50):
Select the word which means the opposite of the underlined word.

49. The injection was given to the patient to alleviate the pain.
1) elevate
2) sharpen
3) aggravate

4) promote

50. His radical views made him unpopular.
1) conservative
2) open — minded
3) childish

4) fundamental

15
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3. Assertion (A) : In an household electrical
circuit fuse is a safety device and is
connected in series.

Reason (R) : Electrical fuse is prepared by
the material having very high melting point.
So it can allow very high voltage/current in
the household electrical circuit.
Considering the above
1) Both A and R are true and R is the correct
explanationto A
2) Both Aand R are true but R is not the correct
explanationto A
3) Alistrue but Ris false

4) Ais false but R is true

4. Out of the following the best safety measure
against lightning strikes is
1) Stand on the terrace of a building
2) Take shelter under a tree
3) Runacross an open high ground
4) Take shelter inside a metal box

5. Consider the following statements

a. The efficiency of Carnot’s engine is 100%.

b. Spark plug present in both petrol and
diesel engines.

c. Carburetter is used to mix air and petrol
in proper proportion.

d. Fuel injection pump is present in diesel
engines.

e. Piston converts linear motion into
rotational motion.

The correct statements are
1) b,cande 2) a,candd
3) c,dand e 4) a,bandd

6. A student has been given a project to prepare

an astronomical telescope, she has to select

two lenses of type
1) Concave lenses of different focal length
2) Concave lenses of same focal length
3) Convex lenses of different focal length

4) Convex lenses of same focal length
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7. Mirages are formed due to the natural

phenomena
a. Earth’s terrestrial heating
b. Reflection of light
c. Refraction of light
d. Diffraction of light
e. Total internal reflection of light

2) a,bandd

1) a,cande

3) b,candd 4) c,dand e

8. A pendulum is moving in a periodic motion
with period T. If its length is increased by

4 times, then its period
1) Increases by 4 times
2) Increases by 2 times
3) Decreases by 4 times

4) Decreases by 2 times

9. Ifthe distance between two bodies is reduced
to half of its initial value, then the gravitational

force between themiis
1) Reduces to half of its initial value
2) Increases by 4 times of its initial value
3) Increases by 2 times of its initial value

4) Decreases by 4 times of its initial value

10. The evidence cited by the scientists for the

continued expansion of universe is
1) Movement of asteroids in space
2) Occurrence of supernova explosion in space
3) Observation of red-shift phenomena in space

4) Appearance of flying saucers
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11.
3%
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This diagram represents displacement-
distance graph of a wave travelling in a
straight line. The amplitude and wavelength
of this wave in respectively are

1
2
3

2 meter and 1 meter
1 meter and 2 meter
1 meter and 1 meter

4) 2 meter and 2 meter

z L O —

12. After firing a bullet of mass 8 g, it is moved
with a velocity of 4 ms~'. The kinetic energy

gained by this bullet is
1) 64 Joule
2) 6.4 Joule

3) 0.64 Joule

= = = ~

4) 0.064 Joule

13. The stages of evolution of sun like stars in
proper order is

1) Protostar-Steady state-Red giant-Planetary
nebula-White dwarf

2) Protostar-Red giant-Steady state-White
dwarf-Planetary nebula

3) Protostar-Planetary nebula-Red giant-Steady
state-White dwarf

4) Protostar-Steady state-Red giant-White

dwarf-Planetary nebula
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14.

15.

16.

CHEMISTRY

Elements belonging to different groups of the

periodic table are given below. If the element

X forms a Chloride whose formula is ‘XCL,’

then such ‘X’ belongs to the group whose

representative element is
1) Al

3) Mg

2) Na
4) Si

The following colours produced by the
universal indicator paper at pH values are
arranged in its ascending order. The correct
option is

a. Green

c. Dark purple
e. Orangered

b. Darkred
d. Greenish blue

0O DO Q
oo oTo

The chemical reactions and its corresponding
observable features are matched below. The

correct option is

a. Change in temperature i. Magnesium reacting

b. Evolution of a gas iil

c. Formationof a iili.

with dilute sulphuric
acid

Potassium iodide
reacting with lead

nitrate

Sulphurdioxide gas

precipitate reacting with acidified
potassium dichromate
solution
d. Change in Colour iv. Zinc granules reacting
with dilute sulphuric
acid
1) a —iii, b—iv, c—i, d—ii
2) a—iv, b—i, c —ii, d —iii
3) a—i, b—iv, c —iii d—ii
4) a-—iv, b —ii, ¢ — iii d—i
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16.
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1) a—iii, b—iv, c—i, d—ii
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3) a—i, b—-iv, c¢—ii, d—ii
4) a-—iv, b —ii, ¢ — iii, d—i
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17. Observe the following chemical equation and

18.

19.

20.

the related Analogy. The correct alternative
that suits the analogy is
H,S + Cl, » S + 2HCI

Substance reduced : oxidising agent : : : Cl,.
1) HCI 2) H28
3) S 4) ClI 5

Identify the trend of elements along a group
of a periodic table shown below.

A. The electropositive character of elements
decreases.

B. Theelectronegative character of elements
increases.

1)
2)
3) Aistrue and B is true
4)

A is false and B is false
A is true and B is false

A is false and B is true

Assertion (A) : The flowers of Hydrangea plant
turns to pink in the presence of potassium
hydroxide.

Reason (R) : The flowers of Hydrangea plant
are usually pink which turn blue in the
presence of a base.

1) Aisincorrect and R is correct

2) Both Aand R are correctand R is the correct
explanation of A

3) Ais correct and R is incorrect
4) Both A and R are incorrect

The solution in which an immersed
glass exhibits apparent disappearance is a

mixture of

1) Hydrogen fluoride and Acetic acid

2) Hydrofluoric acid and Sulphuric acid
3) Con.HCland HNO3 in the ratioof 3: 1

4) Acetone and Chloroform in suitable

proportion

17. 33 3¢NT TOTCHLIZT BT Tone OTY

18.

19.

20.

HoworTey mwsosm& D 2. [eeOIR
moa&m@%s pfoleseriat e.-soisé QTN
H,S + Cl, > S + 2HCI

HJTRTORPOB =2 U\J%ﬁ?% i : Cl,.
1) HCl 2) HS
3) S 4) Cl

2

U 292T @53?&@@%&5 INFRYOS podne

TR P00, IR,

A. TO3onY éldosset;’msééé‘oﬁ :o;md@
BQYBNTT.

B. go3n¢ 5353539%)338560533033 TSR
[T

1) AZg) =08 B3P

2) ARO ) BIY

3) A%O 3 BRO

4) AZE 2 BRO

BITTN (A) : Betiucho Jusd w° THITY
FrEeoeicde NRE TRIJRD YR (10F°) el
WRSRMHIT.

%39 (R): ﬁé@oz;’wn NET SRYNS

TRGRTETRN OO (ROF) WEPTTY, BRORTY,

TIThE BDFTY e wegd wROIT.

1) ASg®) =08 R3O

2) Azene R 30 08 ARt RFO03RT
TOTRONT

3) A%D =) REH)

4) AmonR RQTER )

MRT TIYIT, 1 WFRT WIHRTY

NN TFeY 3r93CIRTOZ RRcs0BIT

1) BBRET LRITE TN VAT SN
Q03

2) BTRTREOT ©y Torle FVRDT SIPNY
AV

3) 3:1 uTITY ICIWOAT Tpw HCI
Sorve HNO, o 3o

4) Q0FR VDT SOOAT ERTRETDRTE
TN WA W
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21. The following substances are arranged in the

increasing order of their pH values. The
correct option is

a. Tomato juice

b. Tooth paste

c. Saliva (after meals)
d. Coffee

e. Blood

1) b e a d
22b e ¢ d a
3y b a ¢ e d
494 b d e ¢ a

22. The law that explains the death of deep sea
fishes when suddenly brought to surface is
A. Charle’s law
B. Graham’s law.
) Only A
2) OnlyB
3) BothAand B
4) Neither AnorB

23. Steps of an activity for boiling under reduced
pressure are jumbled below. Correctly
arranged option is

a. Cool the flask over running water from a
tap carefully.

b. Water inside the flask starts boiling again.

c. Take a cup of water in a conical flask.

d. Gases in the flask are removed from the
steam produced.

e. Boil the water without closing its mouth
for 3 minutes.

f. Close the flask with a rubber cork.

1)c a e b f d
22¢c e d f a b
3)a ¢ e f b d
49 e d c b a f

21. 3 3$NT JTWRET, wPRY pH IPONY
8RR FETY HARICING. [RNEY
BOOSRE ok, YN
a. dasndnee R

Ty VT e,

CRRBEY (YWLT SOITW)

CER

%

~p200T

W N

)
)
)
)

I
O T T T
o o O O
O O O o
o 0o o ©
QO O O o

22. FRTE SYTYN SeRTRY, a%:c%ﬁ% LIS
Zomen WRPNSY LLoLRLE W, DTOW
Qo
A. RSTE DO
B. Nowds® do.

1) ez A

2) 3em© B

3) Azonie B

4) AR Bosmnne @g

23. 3D 1IRAY BOEIECD WredTIER ToLOQPRT
TOBRED, FHTWI0N R ERRRNT. WYresy,
FDTQ WReRAT 0l AN,

a. msaéoaoocs = wo SQowoT JOOIT
acaaod 39%71 mca

b. @gmems ey T BROINR TR,
TOLRN0.

c. 30&@%&0&: noXds T
QeTRy, 371@:&@%.

d. FRT WER LVZICIRT JeOT Tedcko went
VTR OIONTT, RBRTBATTT.

e. '@2)*?5 230N waaagdde, Mdaﬁoﬁl TORT

SORNG O DA

f. ot Tyo* WTTEONOT TR W0 oY,

03280.

239 2,00 ciraeésda'sgs

f
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b
f
f
b
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24. Assertion (A) : In the manufacturing of
common sugar, the syrup obtained does not

have any colours.

Reason (R) : Coconut shell charcoal is used
to give colour to the syrup.

1) Both A and R are incorrect

2) Aliscorrect and R is incorrect

3) Both A and R are correct

4) Aisincorrect and R is correct

25. Silicon compound that is used as an abrasive

for cutting and grinding glass is
1) Sodium silicate
2) Aluminium silicate
3) Silicon carbide
4) Sodium oxide
26. The correct option about the following
statement is

A. Gallium sheets are used more than

Gallium wires.

B. Gallium exhibits ductility property but not

the malleability.
1) Aand B are true
2) A and B are false
3) Aistrue and B is false

4) Ais false and B is true

10

24. TSI (A) : T[T, TITOH LITPTROHRY
ATHT T 3RFTe TR, BRORHZ DY,
5089 (R) 133 2oeg ETen 30N LR QU
WETSIMHIT.

1) A3 R 0HE 3
2) AXD iR R 3F
3) A R 2TER O

4) AZzy 3 REO

25. mz;ab% 6%@3@: TonR VD ap!a‘a?a%wmelﬂ

I 20T TOCINFR) VTN
1) BReBODO 1DFeeF

2) ©VRENICNO 2OFeeF

3) 20T maﬁégcss

4) BReBONO e:séescs@
i

26. 3N Jeodnen souozsmgsoé 3O3R e:soSa&

QTN

A. mﬁcﬁoﬁo 303NYNO3N mée'ﬁoSao TSN

BN WEECIRMTEI.

B. m9030 SHIHeosRy, TRdrR3re Bed
BYHTTY:

1) A 33 B 50

2) A 3 BIF)

3 A RO ) B 3F

4) A 3 D B 70
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BIOLOGY

27. No urination due to shortage of water in the

body is a typical symptom of this disease

1) Typhoid
3) Dengue

2) Malaria
4) Cholera

28. Match Column -1 and Column —Il and identify

the correct answer :
Column - |

A. Thrombocytes l.
B. Neutrophils 1.
C. Erythrocytes .
D. Lymphocytes v.

V.
1) A=1ll, B-V,
2) A-1l, B-1V,
3) A-V, B-Il,
4 A-IV, B-l,

Column - I
Phagocytosis
Releases chemicals
Produces antibodies

Clotting of blood

Supply of oxygen
C-1l, D-1
C-1I, D -1l
c-1Iv, D-I
CcC-V, D-1l

29. Study the diagram below and select the

correct labelling.

1) A) Epidermalcells
C) Guardcell
2) A) Guard cell
C) Epidermal cells
3) A) Stoma
C) Chloroplast
4) A) Chloroplast
C) Epidermal cells

B) Stoma

D) Chloroplast

B) Stoma

D) Chloroplast

B) Epidermal cells
D) Guardcell

B) Stoma

D) Guardcell

BT
=)

27. 30¢0RY  AOT B3RTZ0WOT TR IXRF
BRATHR)T 33 TS mmss OEE

1) @%mo&aw‘
3) zéomé

2) RBedc3w

4) 30T

28. T - 153y Ty - Iz, BROD2 TR FOCHRT

PoITR, THTHR

g - |
A. Bpouincdis L

B. Spteee, Il
C. o) sgscensy Il
D. dokpedts’, Iv.

\'}
1) A-1ll, B-V,
2) A-1l,  B-1V,
3) A-V, B-ll,
4 A-IV, B-l,

e -~
msﬂ.racfgairaczﬁ
cmmoﬁaa%m*mel
RRDABRRYDIT
g@@osmemd
emag@zd:gd
oy ée@ngpas

; es:gmas D30T

C—1i,
C-1|,
c-1v,
c-V,

Dl
DIl
D-Il
D-1

B) ©800g

D) Rednesn,
B)©gc0g

D) Rednesn’,

B) 35003x0s 3003
D)%) dwee3

B) ©gc0g

D)3ow) dRe3
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30. The blood vessel that begins and ends in

capillaries
1) Renal vein

2) Renalartery
3) Hepatic artery
4) Hepatic portal vein

31. Assertion (A) : The sympathetic nervous
system prepares the body to meet any

emergency situation.

Reason (R) : The sympathetic nervous system
is stimulated by the hormone oxytocin during

emergency situation.

Select the correct option from the given

alternatives.

1) Both ‘A’and ‘R’ are true and ‘R’ explains ‘A’

2) Both ‘A’ and ‘R’ are true but ‘R’ doesn’t
explain ‘A’

3) ‘A’istrue and ‘R’ is false

4) ‘A’ is false and ‘R’ is true

32. Which of the following statements are correct ?
A. Tapeworms are hermaphrodites and
undergo self fertilization.
B. Earthworms are hermaphrodites and
undergo self fertilization.
C. Tapeworms are hermaphrodites but
undergo cross fertilization.
D. Earthworms are hermaphrodites but
undergo cross fertilization.
1) ‘A’ and ‘B’ only 2) ‘A’and ‘D’ only

3) ‘B’and ‘C’ only 4) ‘C’and ‘D’ only

12
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33. The rate of transpiration in plants is high in
the following situation :
1) Cool, humid and windy
2) Hot, humid and dry
3) Hot, dry and windy
)

4) Hot, humid and windy

34. Suppose a person wears a convex lenses for
proper vision, where does the image of the
object formed in his/her eye when he/she not
using it ?

1) Behind the retina

2) On the yellow spot
3) Infront of the retina
4) On the blind spot

35. It is considered as a living fossil and
connecting link between annelids and

arthropods
1) Lungfish 2) Peripatus
3) Platypus 4) Echidna

36. Read the following statements :

A. ltforms athick, tough barrier and protects.
the underlying tissues in the skin.

B. Whenitis presentin sense organs contain
receptor cells.

C. ltalso helps in absorption of nutrients.

D. When it is present in glands helps in
secretion.

Which one of the following represent the
above mentioned characteristics ?

1) Epithelial tissue
3
4

Muscular tissue

)
2) Connective tissue
)
) Nerve tissue

13
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4) D, TexT DI, MO
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1) DRYZ Qe

3) TRUIF

2) daméém@
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37. Colour blindness is more common in men

than in women due to
1) Dominant genes of such traits are found on
‘Y’ chromosome
2) Dominant genes of such traits are found on
‘X’ chromosome
3) Recessive genes of such traits which occur

on the ‘X’ chromosome

4) Recessive genes of such traits which occur
on the Y’ chromosome

38. The crop that would require minimum

39.

40.

quantity of urea of NPK for its growth
1) Blackgram
2) Paddy

3) Sugarcane
)

4) Groundnut

Read the following statements and select the
correct option.

A. Wind pollinating flowers need to produce
more quantity of pollen grains

B. Seeds from cross pollinated flowers
produce weaker and less healthy plants

‘A’ is false ‘B’ is true

)

2) ‘A’ is true ‘B’ is false
) Both ‘A’ and ‘B’ are true
) Neither ‘A’ nor ‘B’ are true

Protein catalysts of chemical reactions in
biological system

1) Hormones
3
4

)

2) Vitamins
) Enzymes
)

Both hormones and enzymes
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HISTORY & BUSINESS STUDIES

During the Mid 18" C

41. The British Victory in the Battle of Plassey
implied
1) Mir Kasim became the Nawab of Bengal
2) Robert Clive introduced the dual government
3) Foundation of the British empire in India had
been laid

4) All Indian rulers adopted modern British
military strategies in later wars

42. Find out the correct statement/s with
reference to Anglo-Mysore wars

a. Haider Ali crowned himself as the ruler of
Mysore.

b. Tippu rejected the subsidiary alliance of
the British.

c. Rockets (missiles) were extensively used
by Tippu and Haider.

d. The Marathas and the Nizam of Hyderabad

supported Haider and Tippu in the wars.
1) a, ¢, and d only 2) bandc only

3) aanddonly 4) b, candd only

43. Choose the correct sequence to indicate the
following statements as True (T) or False (F)

During the Middle of 19"" C

a. Indian handicraft products lost markets
outside India.

b. Industrial capitalism made India rich.

c. Feudal system in Indian agriculture was
encouraged under trade capitalism.

d. Large cities and towns sprang up in India
1) F.T.T.F. 2) T.F.T.F.
3) T.T.F.F. 4) T.F.F.T.
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44. Match the following :

44, BROVY W3OV :

A. Samvad Kaumudi i. Swami A. ZomE P=nd i m“a:
Vivekananda N
B. Satyartha Prakash ii. I\Bllrs. Atnnie B. :333515? T3 ii. en3Rou®
C. Ghulamgiri i R:js:;m Mohan C. oo i RezRO0s
Roy BRI o
D. New India iv. Dayanand D. &lp; @oBoi® iv. BosEen
Saraswathi xoZ2
v. Jyothiba Phule V. ERedw FHd
1) A—iii, B-iv, C-v, D-ii 1) A—iii, B-iv, C-v, D-i
2) A-ii, B-iii, C-iv, D-v 2) A—ii, B—iii, C-iv, D-v
3 A—iv, B-v, C-i, D — iii 3) A—iv, B-v, C-i D —ii
4 A-v, B-i, C-ii D-iv 4 A-v, B-i, C-ii D-iv

45. Find out the incorrect statement about

consequences of |

War of Indian

Independence.

45. ITIT TFWo TOMOTIT TOMWINOR
BoWORATOS, B3 FSNT ST RevE TN ?

1

éﬁi QOR3P FOBIOD @%@ BRIRPOR

1) Rule of the East India Company ended 2) (T LT AFOFTT 6T SVFN 29T

2) India came under the direct rule of the British 3 TR WFPN DY 20w JONTTI),

Government SNOTNR BT
3) The Doctrine of Lapse was retained 4) DBREOOIT TOTVEIOID FTHECTEBODT,
BLOTBRATIDT

4) Queen Victoria issued a Proclamation

46. In the early 20'™"C. 46. 20 3¢ ISTRT RRTO PNTEY

BIHES (A) 1 ROIT FINW Freodown
TIIoN WPF D BROOB.

BHPS (R) : 85 §rR0dne BOTm CRenesy
Reosn® FOTTY LUTA3RCNATTH).

Assertion (A): Indian handloom industry
made a steady progress.
Reason (R) : These industries used flying

shuttle in the weaving process.

‘A’ is true but ‘R’ is false

A HO STS R 3T

2) ‘R’is true but ‘A’ is false 2) ‘R @O ©TT ‘A=)

3) Both ‘A’and ‘R’ are true and ‘R’ is the correct 3) ‘A ‘R HTEe FO, W RAI
explanation of ‘A’ TOOIT NWTFBCIPNT

4) Both ‘A’ and ‘R’ are true but ‘R’ is not the 4) ‘A DH R HTBHL 70, s8R A

correct explanation of ‘A’
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47. Arrange the following events in chronological

order.
a. Arrival of Simon Commission
b. Celebration of Poorna Swaraj

c. Kheda Satyagraha

d. Withdrawal of Partition of Bengal
1) a,d, b, c 2) d,c,a,b
3) b,c,d,a 4) a,c,d, b

48. Which of the following statement/ is/are true

regarding the I.N.A. and S.C. Bose ?

a. S.C. Bosetook over the leadership of the
I.N.A. in Tokyo

b. The I.N.A. captured Mowdak (near
Chittagong) during its military operations
against the British

c. Provisional Government of Free India
was setup in Singapore in 1943

d. The British Government tried and
punished the captured officers of the
I.N.A.

1) a, bandd are correct
2) bandd are correct
3) b andc are correct
4) aandb are correct

49. Arrange the shaded regions shown on the
map of India in chronological order of their

merger with the Indian Union.

1) L L IV,
3) 1L L1V

2) 1, 1, IV, 1
4) v, 1L,
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47. 3

a.
b.
c
d.
1) a,d, b, c
3) b,c,d,a

NS PRI, UORTHTY weed !
ﬁémaf 28RENT ENHN

FperorBoens DNT $8ors

. SBewe SN

WOTRER . DPREIODTY, STBRATHTD

2) d,c,a,b

4) a,c,d, b

48. TILOJEWOT, WRLET® T8 N.QF°.Q.01
TOWORATOZ O30T IewF/Neh FOOPNZ /T ?

a.

1) a, b= d =
3) b3 cxO

TOPRTEBEOR, BRETFTITY R0.07°.0.13
TOCHIZTR, $300303ReTY [WABRHOT

. WIMRONTR FWCTRTHT SPRT gzswd?bq

D.OT.0. WHICRODNT HOL0 BHTTY
TITREROT

TB0Z ;03T TwIOF Brer T, 1943 S
2A0TRIPTTY 0.98°.. m@&a)so

. D.ATRE WORITE FeTo @@ﬁam?woel

DUT FRFS NDTHRRTIAL 88 AeRB
2) baa d=o
4) awd bzo

49. (RTT FFCHQ HepNATHT (Shaded) Tdeanss
TS WIRWTY DOIRROT FLRAERY,

1) L LIV,
3) UL,V

2) 1, 1, 1V, 1l
4) IV, I, 11, 1l
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50. Assertion(A): The East and the West
Germanys were reunited in 1990.
Reason (R) : Communist Government
Collapsed in the U.S.S.R. in 1991.
1) Both ‘A’ and ‘R’ are correct and ‘R’ is the
correct explanation of ‘A’
2) Both ‘A’ and ‘R’ are correct but ‘R’ is not the
correct explanation of ‘A’
3) ‘A’istrue but ‘R’ is false
4) ‘R’ is true but ‘A’ is false

51. Match items in Column - | with appropriate
items in Column - Il by selecting the correct
code, given below :

I Il
. The League of Nations i. Mao-Tse-Tung
ii. Woodrow Wilson

. Perestroika

a

b. 5YearPlans
c iii. Joseph Stalin
d

. Cultural Revolution iv. Benito
Mussolini
v. Gorbachev

1) a—ii, b—iii, c—Vv, d—i
2) a—iii, b-—iv, c —ii, d-v
3) a—ii, b-iv, ¢ — iii, d—i
4) a—-iv, b-i c —iii, d-v

52. Which of the following statement/s is/are

correct, regarding functions of banks ?
a. Foreign exchange transactions are

conducted

b. Only private business transactions are
carried out

c. They formulate common monetary policy
for all banks

d. They provide safe deposit lockers

1) a,candd 2) bandc

3) aandd 4) b,candd

18

50. FITOTS (A) © TIE B, BoT> WHEAND

199030 HRT® REeFTHIRRORT).

#HFE (R) : 1991 3 Apechs® STHY

0P, FRFDH) FITRRORD.

1) A BH R SCER FO DR R A S
BOO3RT DHTFEOIONGS

2 ‘AN RH R 20Ee T ez R A I
HO0IRT VBTBOIRNY

3) ‘A T w33 R 3P

4) R %0 €T3 A3

51. 300-138 Daﬁo&:ﬁ@éﬁ)& 00 - IBYHR KOcsRT
QATVWOINSRODNR JBRON. @dﬁé BROTINT
wgzswmel =02,

| ]
TR on®
IRR QOT°

a. U&% Do i
b. TowNET ii.
O3RCTRNSH
c. ﬁzﬂﬂrg;o&o% iii. drcedz® TO°
>

d. TOF &F TS iv. e InBRedR

V. RRWWER
1) a—ii, b — iii, c—V, d—i
2) a—iii, b—iv, c —ii, d-v
3) a-—ii, b—iv, c — iii, d—i
4) a—iv, b-i, c — iii, d-v

52, msoaﬂeé TONFNAOR BOWORATOS B3 IPNAT

SR Bewd/nsd TOBRNE/ 2

a. JT3ed QITLODT FTTINGRY, AT s

b. 533N FTTORLY TeoTRT FTTOORERY,
T, AL

C. DY WROWNAPT WFOPTMT TOTIF,
TEOTRAT eIoB, SRV

d. $Tzo st Bedodsy, LTBNWIH

1) a,¢c ) d 2) b & ¢
3) a =R d 4) b,c 3 d



SAT(K-10)

53. Regarding Life Insurance

Assertion (A): The premium is paid in
lumpsum, at the time of purchasing the policy,
by an employee.
Reason (R) : It provides tax-relief benefits
for the policy holder.
1) ‘A’is true but ‘R’ is false
2) ‘A’is false but ‘R’ is true
3) Both ‘A’ and ‘R’ are correct, but ‘R’ is not
the correct explanation of ‘A’
4) Both ‘A’ and ‘R’ are correct and ‘R’ is the
correct explanation of ‘A’

54. Examine the following statements and select

55.

the correct option :

A. An entrepreneur’s main objective is to
provide service to the public

B. There is no risk of loss, since his
business is protected by the Government

‘A’ is false, ‘B’ is true

)

2) ‘A’is true, ‘B’ is false
) Both ‘A’ and ‘B’ are true
)

Neither ‘A’ nor ‘B’ is true

In the wake of globalisation

Assertion (A) : There is a steady rise in
unemployment, in the developed countries
like the U.S.A.
Reason (R) : Out sourcing of employees from
the developing countries helps the MNC’s in
maximising the profit.
1) ‘A’ and ‘R’ are true, and ‘R’ is the correct
explanation of ‘A’
2) ‘A’and ‘R’ are correct but ‘R’ is not the correct
explanation of ‘A’
3) ‘A’is true but ‘R’ is false
4) ‘R’is true but ‘A’ is false
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GEOGRAPHY AND SOCIOLOGY

56. The Indus River flows between the ranges of
1) Pir Panjal and Mussorie
2) Ladakh and Zaskar
3) Pir Panjal and Zaskar
)

4) Ladakh and Mussorie

57. Match List — | (States) with List — Il (Caused
for land degradation). Select the correct

answer using the codes given below :

List-1 List -1
(States) (Caused for land
degradation)
A. Jharkhand and i. Over
Chhattisgarh grazing
B. Gujarat and Rajasthan ii. Floods
C. Punjab and Haryana iii. Mining
D. Assam and iv. Over
Arunachal Pradesh irrigation
1) A—iii, B-i|, C-iv, D —ii
2) A-iv, B-i C —iii, D—ii
3) A—i B —ii, C—iv, D —iii
4) A-ii, B-iy, C-i, D —iii

58. One of the following is the correct order of
major irrigation projects in India from North
to South

1) Rihind, Kosi, Hirakud, DVC
2) Kosi, Rihind, DVC, Hirakud
3) Hirakud, DVC, Rihind, Kosi
4) DVC, Kosi, Hirakud, Rihind
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59. Uttar Pradesh stands first in the production
of wheat because :

i. Itreceives less than 50 cm of Rainfall.

ii. Ithas well drained plain area and fertile
alluvial soil.

iii. Ithas 20°C - 32°C of temperature.

iv. It has excellent canal irrigation system.

Select appropriate statements.
1) i, ii and iii

3) i, iii and iv

2) i, iiiand iv

4) i, iiand iv

60. Identify the descending order of Land Use
Pattern in India in the year 2007

A. Forestarea
B. Netsown area
C. Areaunder non-agricultural use

D. Barren and waste land
1) B,C,AandD
2) B,A,CandD
3) BA,Dand C
4) B,D,Aand C

= T = ~—

61. Identify the correct matching pairs :

A. Siderite - lIronore

B. Pyrolusite — Bauxite

C. Biotite — Manganese

D. Lignite — Coal

1) Aand B 2) BandD
3) AandD 4) AandC

62. Connecting of Delhi, Mumbai, Chennai and
Kolkata by 6 lane golden quadrilateral

highway started in 1999 by
1) NHDP 2) NHAI

3) CADP 4) CPWD
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63. Match the International Airports on the map
of India (i, ii, iii, iv) with their respective
names :

A. Raja Sansi International Airport

B. Anna International Airport
C. Subhashchandra Bose International
Airport

D. Rajeev Gandhi International Airport

1) A B — iii, C-—lv, D —ii

2) A —iii, B —ii, C—-liv, D—i

3) A B —iii, C —ii, D—i
4) A—iii, B-iv, C—i, D —ii

64. Identify the correct set of major ports along
the East Coast of India

Ennore, Paradeep, Tuticorin, Haldia
2
3
4

)
) Ennore, Vishakapatnam, Tuticorin, Kandla
) Chennai, Ennore, Marmagao, Kochi

) Ennore, Tuticorin, Kochi, Haldia

65. Three iron and steel plants at Kulti, Hirapur
and Burnpur were merged together and are
now known as

1) VISCO 2)
3) BISCO 4)

IISCO
DISCO

66. Information regarding the Earth Surface is
collected by

1) Global Information System
2)
3) Advanced Technology
4)

Geographical Positioning System

Remote Sensing Technology
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67. Name the Constitutional Section which
prohibits the practice of untouchability i.e.,
Untouchability Crime Act (1955)

1) Section—-17 2) Section—-12
3) Section—18 4) Section—19

68. Read the statements and identify the correct
answer :
i. Specialization developing in every field.
ii. Industries have grown in number.
iii. Expansion of Trade and Commerce.
iv. Invest money and gaining a lot of profit.

These are leads to :
1) Division of Labour
2) Discrimination in Labour

3) Formation of Strata in Society
)

4) Division of Class

69. Read the statements and identify the correct
answer :

i. Sometimes it leads to large scale loss
of property and lives.

ii. It become serious challenges for law
and order.

iii. It do not continue for a long time.

iv. Communal and group clashes are some
examples of it.

) Mobs

) Riots

) Collective behaviour and movements
)

W N =

4) Revolution

70. ‘Self awareness, self motivation and mutual
trust to fulfil the economic and social
necessities by efforts and co-operation’ —This
statement refers to

1) Micro-finance activity
2) Women’s self help groups

4

)
3) Women right opportunity
) Representation in developmental projects
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POLITICAL SCIENCE AND ECONOMICS

71. Match the List - ‘A’ (Concepts) with List - ‘B’
(Descriptions) and select the correct matched
codes given below.

List - ‘A’ List - ‘B’
(Concepts) (Descriptions)
A. Secular i. Equaldistribution of

National Income

B. Socialist ii. TheHead of the State
elected by people
C. Sovereignty iii. Country free from

internal and external
forces

D. Republic iv. Follow any religion
of people’s choice

Codes:

1) A-ii, B-iv, C—i, D-—ii
2) A—iv, B—i, C—iii, D-ii
3) A—iii, B-iv, C—ii, D-i
4 A-iv, B-i, C-ii, D-ii

72. Which of the following are associated with
UNO ?

a. Franklin D. Roosevelt
b. Veto Power

Common Market System

2 o

Military Alliance
e. New York City
f. British Supremacy

Choices:
1) a,d,f 2) b,c, e
3) a,b,e 4) c,d,f
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73. Choose the correct sequence to indicate the
following statements as True (T) or False (F).

A. In case of Money Bills, the Rajya Sabha
has virtually no powers.

B. The Ministers are individually
responsible to the President not
collectively to the House of the People.

C. The President of India doesn’t have any
power to withdraw the ordinance at any
time after once promulgate it.

Choices:
1) TFF
2) FTT
3) TFT
4) FTF
74. List-‘A’is the list of ‘problems’, List— ‘B’ is
the list of ‘Reasons’ and List — ‘C’ is the list
of ‘Remedies’.

List — ‘A’ List - ‘B’ List - ‘C’
(Problems) (Reasons) (Remedies)
a. Communalism . drawbacks in i. verification

. Corruption

c. Economic

inequality

. Profiteering

bureaucracy

. White collor j.

jobs

. Hoarding k.

. Interests of I

religious

groups

of price index

Lokpal

uniform

civil code

Social

securities

Which one of the following correctly matched

set?
1
2

)
)
3)
)

afl, bhj, cgi, dek
ahj, bfk, cel, dgi
ahk, bej, cfl, dgi
4) ahi, bgi, cfk, del
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75. Read the following :
A. ltis not aligned to any power blocs.
B. It retains the freedom to take
independent foreign policy.
C. Itjudges an issue on merit.
D. Itis opposed to military alliances.

Which of the following represents the above
characteristics ?

1) Disarmament

2) Opposition to the policy colonialism
3) Coldwar

)

4) Non-alignment

76. Assertion (A) : Deficit finance is indicated
by the negative sign (-).
Reason (R) : In general the expenditure of
the government is increasing more than its
revenue.
1) ‘A’and ‘R’ are True and ‘R’ is the correct
explanation of ‘A’
2) ‘A’and ‘R’ are True but ‘R’ is not the correct
explanation of ‘A’
3) ‘A’is True but ‘R’ is False
4) ‘R’is True but ‘A’ is False

77. The course of evolution of money is depicted
in the following flow diagram. Identify the

correct sequence.

1T — | 2

Copper Coins
Credit Cards
Commodities

a o T 9w

Cheques

1) 1a, 2b, 3c, 4d
2) 1d, 2c¢, 3b, 4a
3) 1b, 2d, 3a, 4c
4) 1c, 2a, 3d, 4b
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78.

79.

80.

Income sources of Central Government are
given below.

a. Internal and Foreign Loans
b. Coins and Mints
c. Disinvestment

Which of the above source/sources is/are the

Capital Receipts of Central Government ?
1) aonly
2) bonly
3) aand conly
)

4) aandb only

Answer the Question No. 79 and 80 based on
following table.

Country | Total National Population
Income
Male | Female
P 10800 635 465
Q 10450 575 375
R 9000 380 220
S 10400 285 515

The country which has high per capita
income is

1) P
3) R

2) Q
4 S

Identify the correct chronological order of
nations which has low per capita income to
high per capita income

1) PRQS

2) SQRP
3) RSPQ
4) QPSR
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81.

82.

83.

84.

85.

86.

MATHEMATICS

The variance of 20 observation is 5. If each
observation is multiplied by 2, then new
variance of the resulting observations is

1) 7 2) 10 3) 20 4) 40

The polynomials (x3 — 1) and (x? +1) are
divided by (x + 1) leave the remainder as
R, and R, . The true statement among the
following is

1) R ,+R,=0
3) 2R, +R,=0

2) R,- R,=0
4) R -2R,=0

In AABC, XY || BC and XY divides the
triangle into two parts of equal areas. The

val eofﬁ is
ue ol Bx

1) J2-1 2) %
2

3) 2 4) 2 +1

If a= /5+2.6 then 1;2&4 =

1) 48 2) 10

3) 5 4) ofs
D 2 B

C 4 A

In the given figure,if AD | BC,AC=4,BD=2,
AB=aand CD=bthena?+b?=
1) 6 2) 8 3) 12 4) 20

If sin x + sin?2 x = 1 then the value of
cos'2x + 3cos'® x + 3 cos® x + cosbx is

1) 0 2) 1 3) 2 4) 3

28
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81. «aogs_:g TOTOINY
2 007 ™3TR WoHE IO

TR0 TXTeo  NIOR
7 2) 10 3) 20
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4) 40

82. (x*-1)33 (x*+1) aoa;mmgne;@ (x+1)
00 NN R, @3 R, 3exnsd Lv9osnIss.
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1) R +R,=0 2) R,- R,=0
3) 2R +R,=0 4) R -2R,=0

83. AABCO®HQ XY || BC033 XY o3 3pzsaa,
QTT TDTT DRYLEOT QTITOS NLFNATT,

-~ % 8 2
1) J2-1 2) %
2
3) 2 4) J2+1
1+a’
84. a= /5,96 &3 a2
1) 446 2) 10
3) 5 4) o6
D 2 B
85.
C 4 A

é.raégcbw w¥3m9 AD 1BC,AC=4,BD=2,
AB=a 3 CD=b &3 a?+ b? =
1) 6 2) 8 3) 12 4) 20

86. sin X + sin2 x =1 =33
cos'2x + 3 cos™ x + 3 cos? X + cos®x & 253
1) 0 2) 1 3) 2 4) 3
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87.

88.

89.

90.

91.

92.

93.

94.

The area of the triangle formed by the points
(a,b+c),(b,c+a)and(c,a+Db)is
1) 0 2) 1
3) abc 4) a+b+c
2 2

Two lines are to be parallel. The equation of
one of the lines is 8x + 6y = 28. The equation
of the second line can be

1) 3x+4y =14 2) 6x +8y =28
3) 2y + x =28 4) 3y +4x =14
If A and G are AM and GM of two given
positive numbers ‘a’ and ‘b’, then
Ja-+b
\/5 -
1) A+G 2) A-G
3) AxG 4 A+G

If the m™ term of harmonic progression is
“n” and n' term is “m” then (mn)!"term is

!
2) —

mn
4) —1

1) mn
3) 1

The maximum number of non-empty subsets
of set{0,1,2,3}is

1) 7 2) 8 3) 15  4) 16

The number ofarrangements of all the letters
of the word “GOURI”, so that all vowels do
not occur together will be

1) 36 2) 84 3) 108  4) 120

If 2C,:
1) 5

"C,=12:1 then the value of ‘n’ is
2) 6 3) 10 4) 11

There are two temples one on each bank of a
rivers just opposite to each other. One temple
is 40 m high. As observed from the top of
this temple, the angle of depression of the
top and foot of the other temple are 30° and
60° respectively. The width of river is

404/8 40
) —m 2) 5 m

120 80
N N
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93.

(@, b +c), (b, c +a) B (c, a + b) WoTRPOT
YVOERMT SIDBRT DL
1) 0 2) 1
3) abc 4) a+b+c
2 2
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2000 Beadek ZTewesded 8x + 6y = 28 =3
BRR0T BesdodH FRwesTed

1) 3x +4y =14 2) 6x + 8y =28
3) 2y +x =28 4) 3y +4x =14
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1) mn

2 —

3) 1 4) -1
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1) 7 2) 8 3 15  4) 16
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95.
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97.

98.
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100.

Out of 30 consecutive positive numbers 2 are

choose at random. The probability that their
sum is odd is

10
29

14
29

15
29

16
29

Statement A : The rationalising factor of
Ya+¥bis Ya— b

The product of (3/;—%)
and (g/a_2+$/b—2+§/£) is (a—b).

1) Both A and B statements are true

StatementB:

2) Both A and B statements are false
3) Aistrue and B is false
4) Ais false and B is true
P
(o) T
Q

TP and TQ are tangents drawn to a circle with
centre ‘O’ £ OPQ =2a, measure of Z/PTO is

3) 2a  4) 4a

If one root of the equation x> + ax + b = 0

is % times the other. Then the correct
relations among the following is

1) 3a®=16b 2) 16a%=3b

3) 3a=16b> 4) 16a=3b>

The mean and mode of a set of data are

respectively 2 n and 5 n. The median of same

datais
1) 9n 2) 7n 3) 5n 4) 3n

The diameter of a metal ball is 3.5 cm. If the

density of the metal is 9.8 g/cm? then mass

of the ball is
1) 200g

3) 1600¢

2) 220g
4) 1760 g
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Nov-2016 NTSE GMAT Key Answers

Q No Key Q No Key Q No Key Q No Key Q No Key
1 4 11 2 21 4 31 3 41 4
2 3 12 4 22 1 32 3 42 3
3 1 13 3 23 2 33 1 43 1
4 2 14 2 24 3 34 4 44 1
5 3 15 4 25 1 35 2 45 3
6 1 16 1 26 4 36 3 46 1
7 2 17 2 27 3 37 2 47 2
8 4 18 4 28 2 38 4 48 4
9 1 19 1 29 4 39 1 49 1
10 3 20 3 30 2 40 3 50 3

Nov-2016 NTSE LCT Key Answers

Q No Key Q No Key Q No Key Q No Key Q No Key
1 3 11 2 21 3 31 1 41 2
2 2 12 1 22 1 32 4 42 1
3 3 13 3 23 3 33 1 43 3
4 1 14 3 24 1 34 3 44 1
5 4 15 2 25 3 35 4 45 4
6 1 16 4 26 4 36 2 46 4
7 3 17 4 27 1 37 1 47 3
8 4 18 3 28 2 38 4 48 1
9 3 19 3 29 3 39 2 49 3
10 1 20 2 30 2 40 1 50 1

Nov-2016 NTSE SAT Key Answers

Q No Key Q No Key Q No Key Q No Key Q No Key
1 3 21 * 41 3 61 3 81 3
2 1 22 4 42 2 62 2 82 1
3 3 23 2 43 4 63 4 83 4
4 4 24 1 44 1 64 1 84 2
5 2 25 3 45 3 65 2 85 4
6 3 26 2 46 4 66 |[**1&4| 86 2
7 1 27 4 47 2 67 1 87 1
8 2 28 4 48 3 68 4 88 *
9 2 29 2 49 4 69 2 89 2
10 3 30 4 50 2 70 2 90 3
11 4 31 3 51 1 71 2 91 3
12 4 32 2 52 3 72 3 92 2
13 1 33 3 53 3 73 1 93 1
14 3 34 1 54 4 74 3 94 1
15 1 35 2 55 4 75 4 95 3
16 2 36 1 56 2 76 1 96 4
17 4 37 3 57 1 77 4 97 3
18 1 38 1 58 2 78 3 98 1
19 3 39 2 59 4 79 3 99 4

20 4 40 3 60 3 80 4 100 *

* One grace mark will be given to AllL

** For question No. 66 both 1 and 4 option are correct.






